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Options:

1. % C

2. ¥ Basic (af@R)

3. % ADA

4. ¥ Assembly (3rddet)

Question Number : 1 Question Id : 2549896693 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a high-level programming language?
Options :

1. % C

2. % BASIC

3. % ADA

4. ¥ Assembly



Question Number : 2 Question Id : 2549897120 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % End

2. % Alt

3. # Delete

4.+ Scroll Lock

Question Number : 2 Question Id : 2549897120 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The key can be used to temporarily halt the actions of the program being executed or stop

the scrolling of text.
Options :

1. % End

2. ® Alt

3. * Delete

4. ¥ Scroll Lock
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
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Options :



1. ¥ gdiafehT R
2. % geignnta e

3. ¢ AIgeR e
4. ¥ OhaRMd ey

Question Number : 3 Question Id : 2549897322 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following options allow multiple users on different computers or terminals to access

a single system with one OS on it?
Options :

1. * Multitasking system

2. ¥ Multiprogramming system
3. ¥ Multiuser system

4. # Multifunctional system

Question Number : 4 Question Id : 2549897682 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1.¥ U™

2. ® ©:

3. ¥ IR

4, % d=

Question Number : 4 Question Id : 2549897682 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

How many generations of computers do we have?
Options :

1. ¢ Five

2. # Six

3. * Four

4. % Three

Question Number : 5 Question Id : 2549898876 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ Geisr HARY
2. ¥ ggarel AARY
3. ¥ 719 AERY
4, % FH AARY

Question Number : 5 Question Id : 2549898876 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

___ combines the advantages of ROM and RAM.
Options :

1. % Flash memory

2. # Virtual memory

3. * Mass memory



4, # Cache memory

Question Number : 6 Question Id : 25498912978 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
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Options :

1. 3 (write)

2. % 3iah (doc)

3. ® fau (pip)

4. % H (run)

Question Number : 6 Question Id : 25498912978 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following commands is used to open WordPad in Windows 10 using Command
Prompt?

Options :

1. ¥ write

2. % doc

3. * pip

4, % run

Question Number : 7 Question Id : 25498913751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 40
2. ¥ 34
3. % 44

4. * 80

Question Number : 7 Question Id : 25498913751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A floppy drive is connected to the controllerbya ______ pin ribbon cable.
Options :

1. % 40

2.¥ 34

3. % 44

4. % 80
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® BHIR

2. % UgawR

3. ¥ UGAIhM Iedar
4. ¢ f8%H diveRR

Question Number : 8 Question Id : 25498920629 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Operating System is one of the best examples of:
Options :

1. * firmware

2. ¥ adware

3. ¥ application software

4. ¥ system software

Question Number : 9 Question Id : 25498929964 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ gafAsT g

2. ¥ Tu=Rgdr ST

3. ® IR-ufdeyor st

4. ¥ UgaH 3R YATUiRoT

Question Number : 9 Question Id : 25498929964 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A biometric device is a security _____ device.

Options :

1. * integrity checking

2. % confidentiality checking

3. * non-repudiation checking

4. + jdentification and authentication



Question Number : 10 Question Id : 25498930216 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :

1. % g

2. ¥ 3-gqy

3. ¢ g-umE

4, ® 3-SIaT

Question Number : 10 Question Id : 25498930216 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The use of ICTs to modernise the state, for the creation of data repositories for Management
Information System (MIS) and the computerisation of records (land, health, etc.) with reference to

e-Governance is termed as:
Options :

1. # e-Commerce

2. % e-Services

3. ¥ e-Administration

4. % e-Democracy

Question Number : 11 Question Id : 25498930650 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % ¥ Tedg 2 (RAM)

2. ¥ ROM-BIOS

3. ¥ gaguiRH Wic

4, ¥ AIES

Question Number : 11 Question Id : 25498930650 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

is a special chip with instructions for the computer to communicate with other hardware

parts.

Options :

1. # Random Access Memory (RAM)
2. ¥ ROM-BIOS

3. ¥ Expansion slot

4. * Motherboard

Question Number : 12 Question Id : 25498930707 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ 3ffes PiAA 1At (Basic Common Copy)

2. % 3f¥eh srelH it (Basic Carbon Copy)

3. ¥ &A188 red hrdl (Blind Carbon Copy)

4, ¥ 788 hiAA apidt (Blind Common Copy)



Question Number : 12 Question Id : 25498930707 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the full form of 'BCC', a field of an email header?
Options :

1. # Basic Common Copy

2. * Basic Carbon Copy

3. ¢ Blind Carbon Copy

4. #* Blind Common Copy

Question Number : 13 Question Id : 25498930960 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % gaAH

2. % 319

3.¥ 3

4. % 31fdh

Question Number : 13 Question Id : 25498930960 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

LCD’s consumes ___ amount of power compared to CRT and LED.
Options :

1. % same

2. % solid



3. % less

4. % more

Question Number : 14 Question Id : 25498933226 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following protocols is used to copy files from one host to another over the internet?
Options :

1. * UDP

2. % 1P

3. % TCP

4. FTP

Question Number : 14 Question Id : 25498933226 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % UDP
2. % IP

3. ®# TCP

4.« FTP

Question Number : 15 Question Id : 25498933728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

How many Kilobytes are there in a Gigabyte?



Options :

1. % 1024

2. % 1048576
3. % 128

4. % 1

Question Number : 15 Question Id : 25498933728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 1024

2. % 1048576

3. % 128

4. % 1

Question Number : 16 Question Id : 2549897346 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which file format is used to save Dynamic Link Library?
Options :

1. % DYLL

2. % DILL

3. % DLIL

4. ¥ DLL

Question Number : 16 Question Id : 2549897346 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. * DYLL
2. # DILL
3. % DLIL

4.+ DLL

Question Number : 17 Question Id : 2549897917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the latest version of Windows as of June 2020?
Options :

1. % Windows 10

2. % Windows 7

3. * Windows Vista

4. % Windows XP

Question Number : 17 Question Id : 2549897917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % Windows 10

2. % Windows 7

3. ¥ Windows Vista

4. % Windows XP



Question Number : 18 Question Id : 2549898368 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options is an example of non-numerical data?
Options :

1. * Student Marks

2. ¥ Employee Name

3. * Employee Age

4, # Student weight

Question Number : 18 Question Id : 2549898368 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. ® B 3

2. ¥ RHARY &1 A

3. ¥ HHIRY 6t 3y

4, % B ol doid

Question Number : 19 Question Id : 2549899446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a common computer peripheral device?
Options :

1. #* Mouse



2. % Monitor
3. % 3D Printer

4, # Keyboard

Question Number : 19 Question Id : 2549899446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. * A"

2. ® fAifA

3.+ 3D fliex

4. % fare

Question Number : 20 Question Id : 2549899561 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is an impact printer?

Options :

1. % Laser

2. % LED

3. ¥ Dot-matrix

4. # Inkjet

Question Number : 20 Question Id : 2549899561 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % ooR

2. % gaA.3.3L.

3. ¥ ghe-dfaa

4. % Fehoic

Question Number : 21 Question Id : 25498910748 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Speed of dot-matrix printer is generally measured in:
Options :

1. % DPD

2. ¥ CPS

3. ¥ PPM

4. *= IMP

Question Number : 21 Question Id : 25498910748 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % DPD

2. ¥ CPS

3. * PPM

4. % IMP

Question Number : 22 Question Id : 25498911184 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For desktop computers, the most common pointing deviceisthe ___
Options :

1. * Scanner

2. ¥ Mouse

3. ¥ Monitor

4. % Printer

Question Number : 22 Question Id : 25498911184 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ TR

2. ¥ A3

3. ¥ #ifAx

4, ¥ fiix

Question Number : 23 Question Id : 25498913367 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is the correct order of units of storage if arranged in an ascending order, starting with the

smallest unit first and going down to the largest unit?
Options :
1. * Byte, Bit, Kilobyte, Megabyte, Gigabyte, and Terabyte

2. ¥ Bit, Byte, Kilobyte, Megabyte, Gigabyte, and Terabyte



3. * Bit, Byte, Kilobyte, Gigabyte, Megabyte, and Terabyte

4. % Bit, Byte, Kilobyte, Megabyte, Terabyte, and Gigabyte

Question Number : 23 Question Id : 25498913367 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

WIRST hl 3131 T el hH T ¢ TlE I 3RTat (ascending) o | SgafeAd forar ST, Uget 9ad BIET 36 I
[ B TIY TSI FehTs deh?

Options :
2. ¢ {3, arge, fohettange, Amarge, Mimerse 3k &arge
4. % {9, arge, fhellarge, AmeTse, e, 3R fimerse

Question Number : 24 Question Id : 25498918427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following device allows you to print on both sides of a paper at the same time?
Options :

1. ¢ Duplexer

2. * Print double

3. # Simplex

4. * Duplicator

Question Number : 24 Question Id : 25498918427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ SR (Duplexer)

2. % fiic g9 (Print double)

3. % e (Simplex)

4. % gfterhex (Duplicator)

Question Number : 25 Question Id : 25498918519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

With respect to computer software, what does OS stand for?
Options :

1. % Operating System

2. * QOperating Source

3. ¥ Operating Session

4. # Qperating Startup

Question Number : 25 Question Id : 25498918519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ ATRfET f&%eH (Operating System)

2. % JoRfeT @ (Operating Source)

3. # 3TRfdT ¥ (Operating Session)

4, % 3foRfdT wWrésty (Operating Startup)



Question Number : 26 Question Id : 25498920534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A collection of related information sorted and dealt with as a unit is a:
Options :

1. # Disk

2. * Data

3. ¥ File

4. * Floppy

Question Number : 26 Question Id : 25498920534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ &

2. % 3

3. ¥ ®IEd

4, ¥ geArdt

Question Number : 27 Question Id : 25498920755 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

protocol is used for reporting errors and management queries. It is a supporting protocol
and is used by networks devices like routers for sending error messages and operations

information.

Options :



1. ¥ ICMP
2. % STMP
3. % TCP

4. % FSK

Question Number : 27 Question Id : 25498920755 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ ICMP
2. # STMP
3. % TCP

4. * FSK

Question Number : 28 Question Id : 25498922005 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

the process of converting information or data into a code, especially to prevent unauthorized

access.
Options:

1. % Encryption
2. % Decryption
3. * Dycryption

4. % Translation

Question Number : 28 Question Id : 25498922005 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ TfehrE

2. ¥ ffepm

3. ¥ SEfehieE

4, % A

Question Number : 29 Question Id : 25498922628 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which statement is correct with respect to troubleshooting?

Options :

1. ¢ Troubleshooting is the process of diagnosing the source of a problem and fixing the
hardware and software problems of the computer system.

2. * Troubleshooting is the process of ignoring the source of a problem and continue with that

problem.
3. ® Troubleshooting often overlooks the malfunctioning of the system.

4. # There is always a foolproof method for troubleshooting by skipping which problem can be

identified and solved very easily.

Question Number : 29 Question Id : 25498922628 Question Type : MCQ Option Shuffling : Yes
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1. ¢ gaa T (T MaRoT) Yeh THEIT & Hid 1 UdT i 3R e [ed & gredur iR Airedar gawradl
ot &k e i ufchar g1

2. % goe YT (FART fAqRT) Ueh GHRT & Gl chl HGET hin IR I AT o 1Y ST @+ <ht Ufehar g1
3. ® gad YT (THeT Faren) SR Red & @RI i SHEET T |

4. % zgd T (Tre Faron) & g gasm gt ges fagaia ofik smar fafdr gidt & St fRhy sech gowm ot
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An operating system is a well-organized collection of (a/an) that manages the computer

hardware.

Options :

1. ¢ system software
2. # hardware

3. # Only ROM

4. # Only RAM
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Options :

1. ¢ O%eH Iited®R
2. ¥ gERR

3. # thae ROM

4. ¥ had RAM
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Options:

1. ¥ g Afd (Instant Making)

2. % 3o AafSiT (Internal Messaging)

3. ¥ 3 AafSiT (Instant Messaging)

4. ® 3ya a9 (Integral Message)
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With respect to the Internet services, IM stands for ____
Options :

1. * Instant Making

2. * Internal Messaging

3. ¥ Instant Messaging

4. *# Integral Message
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Options :

1. ¢ https://www.monsterindia.com

2. ¥ https://www.bharatmatrimony.in



3. # https://indianrailways.gov.in

4. % https://www.yatra.com
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Which of the following websites can be used to search for a job on the internet?
Options :

1. ¥ https://www.monsterindia.com

2. * https://www.bharatmatrimony.in

3. # https://indianrailways.gov.in

4, #® https://www.yatra.com
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Options:

1. ¥ I ANTd

2. % I Afd

3. ¥ gédr

4, ® LI
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Which of the following is NOT an advantage of a computer?



Options :

1. % High cost
2. * High speed
3. % Accuracy

4. # Diligence
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Options :

1. ® gfee

2. ¥ e

3. ¥ 3

4. % g\
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By using which tab can you insert 'Equations' in an MS-Word 2016 document?
Options :

1. #* Edit

2. * Format

3. ¥ Insert

4., # Home
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Options :
1. % 11001
2.% 10100
3. % 11110

4. % 1111
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Which of the following is the binary equivalent of the decimal number 20?
Options :

1. % 11001

2.410100

3. % 11110

4. % 1111
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1. ¥ RAM @f CPU & gRI Y&l ¥9 ¥ TaAy fhar ST JehdT 8

2. % RAM @l &l ST Hehdll &

3. ¥ gd\E # CPU gRI UG R ST aret a7 ant Tfgd et & forg RAM @t IudiT fokat ST 8
4. ¥ RAM aagex it frcftares Aniidt o smr &
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Which of the following is FALSE with reference to the RAM?

Options :

1. * RAM is directly accessible by the CPU

2. ¥ RAM is volatile in nature

3. * RAM is used to store the data that is currently processed by the CPU

4. ¥ RAM is part of a computer's secondary memory
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Options :

1. ¢ H&H Ao

2. ¥ qigd

3. % gq

4, % Ry
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Priya wants to customise the margins of her MS-Word 2016 document. Replace the question mark

(?) with the correct option for the steps that she should follow.

Go to Layout - Margins - ?
Options :

1. % Custom Margins

2. * Borders

3. # Insert

4. # References
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MS Word 2010 & 28¢d &t ATu= & forg fethiee 3aTE AT & € ot Tt 82
Options:

1.¥ 39

2. % Féhiex

()

3. * gisc™

3

4. % g
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Which of the following is the default unit of measurement for indents in MS-Word 20107
Options :

1. % Inches

2. * Centimetres

3. * Points



4. % Lines
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Options:
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With reference to the DNS, the practice of registering a domain only to turn around and sell it off

to an interested party at a much higher priceiscalled __
Options :

1. % cyberstalking

2. ® cybernetic

3. ¥ cyberspace

4. ¥ cybersquatting
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Options :

3.3

4. % 4
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In the Proofing group of MS-Word 2016, there is/are ______ option(s).
Options :

1. %1

2. % 2

3.3

4. % 4
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Options :
1. ¥ Uige
2. % 39

3. ® ofis¥
4, % &R
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In MS-Word 2010, if you select the 'At least’ option in the Paragraph dialog box, the line spacing

will be measuredin _____ by default.
Options :

1. % points

2. * inches

3. ¥ lines

4. % centimetres
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MS-PowerPoint 2013 # gdaT= A ! fordt 31 ofi\ & sgeq & forg Amfafaa # & ool @ ggt =ror €2
Options :

1. ® 34 > i

2. % giHE > |

3. ¥ darse -> oAy

4. ¢ f&me -> offg
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Which of the following are the correct steps to change the current theme to another theme in MS-

PowerPoint 20137

Options:



1. * Insert -> Themes
2. # Animations -> Themes
3. #* Layout -> Themes

4. ¢ Design -> Themes
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Options :

1. ¥ qd3raTgH
2. ¥ ISR

3. ¥ W e

4. % sfpde tave
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Which of the following is used to link two or more web pages (HTML documents) with each other?
Options :

1. * Virtualization

2. ¥ Hypertext

3. % Plain text

4. #® Encrypted text
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Options :

1. % Ctrl +Delete

2. % Alt + Ctrl

3. ¢ Ctrl + Spacebar

4. # Alt + spacebar
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Which shortcut will you use for clearing the formatting in MS-Word 2016?
Options :

1. % Ctrl + Delete

2. % Alt + Ctrl

3. ¢ Ctrl + spacebar

4. # Alt + spacebar
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MS Word 2016 # #fciT &9 & Ted &g Tig 6l ugar &
Options :

1. % fohue (Create)

2. % WIE 7d 7t (Start Mail Merge)

3. % 3¢ Us 39<¢ thies (Write & Insert Fields)

4. + fhfasr (Finish)
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Identify the right most group in the Mailings tab in MS-Word 2016.
Options :

1. # Create

2. * Start Mail Merge

3. ¥ Write & Insert Fields

4. + Finish
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Options :

1. ¢ HISET G &l IUANT AL
2. ¥ HIITeh HUhI ht g
3. % go 5 g TsU W

4. % gt 3E o
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In MS-Word 2016, the given icon is displayed when radio button has been enabled in the third step of mail
merging the letter.

Options :

1. % Use an Existing List

2. * Select the Outlook Contacts
3. % Type a New List

4. * Import the List
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Options :
1. ¥ 86
2. % giad
3. % =1
4. % R

Question Number : 47 Question Id : 25498919252 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The 'Edit individual letters' option is used to personalise letters. It opens a new document with the

merged letters. This is applicable in the _____ step of the mail merge process.
Options :

1. ¥ sixth

2. #® fifth

3. ® fourth

4. * third
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Options :
1. % gl A
2. ¥ ¢

3. % [ yH
4, % aAfen foreed
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Which of the following communication services of the internet is used to log on to a remote

computer that is attached to the internet?
Options :
1. * Electronic mail

2. % Telnet



3. * Newgroups

4. #® Mailing lists
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Options :
1. % =1é
2. % U
3. ¢ urgdie ¢ad

4, % CISHCATSA
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In MS-Excel 2016, which of the following can be used to summarise, sort, reorganise, group,

count, total or average data stored in a table?
Options :

1. # Chart

2. * Graph

3. ¥ Pivot table

4. % Timeline
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Options:
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Question Number : 50 Question Id : 25498925514 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true with respect to superscripts?

Options :

1. # Sometimes copyright and registered trademarks are superscripted.

2. ¥ Ordinal indicators are sometimes superscripted.

3. # Itis used for standard abbreviations for trademarks and service marks.

4.+ Itis not used to represent an exponent.

Question Number : 51 Question Id : 25498932145 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
FaTeh dadh (fSema Hifen) um: &Y ggradr @ Iarfard <hl ST 81
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1. ¢ AfSTl itk
2. % Agfsim

3. ® A

4. % -8



Question Number : 51 Question Id : 25498932145 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Business meetings are often conducted with the helpof ___
Options :

1. " video conferencing

2. * messaging

3. ¥ chatting

4. % email
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Options :

1. ¥ grigs e
2. ¥ Jthelis freed
3. % gofeA o

4. ¥ gefeea dhisien
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Which of the following refers to self-contained computing terminals that provide access to on-

demand information and transactions?
Options :

1. ¥ Embedded systems



2. #* Offline systems
3. ¥ Bulletin boards

4.« Interactive kiosks
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Read the given passage and answer the questions.

How Words Get into a Dictionary

A dictionary is an attempt to capture a language. As more words come into English every day, each



new edition of a dictionary seeks to contain the latest words.

Dictionary editors are always on the lookout for new words that are coming into use and feed the
results into a database. To make the process more systematic, computers can be used to scan
large chunks of electronic text and check against the dictionary for new words. This sort of
computer program can process text more quickly and accurately than a human reader, although

editors still need to judge if the results of its searches need to go into the dictionary.

When a new edition of a dictionary is due to be published, editors will review the words they have
collected. They decide which ones are important by using a huge database of language called a
corpus which contains millions or even billions of words taken from a range of different sources.
Editors can see how many times a word shows up in a corpus and what sort of places these are.
The more times a word appears, the more likely it is to go into the dictionary, but editors will also
take account of such matters as whether the word is restricted to certain users or a particular

news story.

After making their selection of words, editors will then compile dictionary entries for these. Yet
even after a word has been included in a dictionary, it may not stay there for ever. A word that
turns out to be a short-lived phenomenon may be removed in future to help make room for the

next generation of words clamouring to be allowed in.

Sub questions
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According to the passage, dictionaries are important to us because
Options:

1. ¢ they list the words that are in use at a particular time.

2. * they have only the latest words of a language.

3. # the new editions help us to capture a word.

4. % people use only the words given in a dictionary.
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How do editors decide which words to include in a dictionary? Choose the correct combination of

statements given below.

1. Dictionary editors always try to find new words.
2. A list of new words is made.
3. Computers check the new words.

4. Aword used frequently in different situations is included.
Options :
1.%123
2. %124
3.¥134

4. % 234
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What is a corpus that is used by dictionary editors?

Options :

1. ¢ A huge database of language taken from different sources.

2. * An alphabetical list of words to be removed from a dictionary.
3. ¥ Alist of frequently used words.

4. * Atechnique of language research.
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According to the passage, entries of words are NOT permanent because

Options:

1. * adictionary should have only the latest words.

2. ¥ new words enter a language and some words that are no longer used are removed.
3. #* an existing word may be used in a totally new way.

4. # long and difficult words are removed after a trial period.

Question Number : 57 Question Id : 25498920910 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Why are dictionaries revised from time to time? Choose the correct combination of the statements

given below.

1.To include new words that people make.
2.To remove words declared old fashioned.
3.To include new information not known before.

4.To improve an existing edition by adding a new dimension.
Options :

1.+ 1and 2

2. % 2and 3

3. % 3and 4

4. % 1and 4

Question Id : 25498920905 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

frT U TTerier ol U 3R I SMYR UR Uil & SR &



Uch eGehILT H <reg BT A g1 @

Uch QTSGR Yeh {THT bl HIG &7 U1 g1 Sig-oiY g% & e 3fiisit & 3f1d &, 39-d9 Teh UKEhI & U -7
TEHROT H TAIaH 2Teg M gid ST 8|

RT&&hIT HUTGEh GHRIT AT T&GT hl TN H @ & St SUANT H 317 3@ ¢ 3R uRumHf &l Serey & this &xd g | ufehar
I 31fdeh Tafeq T & I, R ST IUTNT FeicreiiFeh doRe & ¢ feR ol The o 3R AT AT hl ARl
H I ST o forq foham ST erdT 81 9 UehR &hl SheR URITH HIFG UTSeh hl ei-il H UTS el 3ffeeh dofl 9§ 3R Gdih
Y G GO1fAd &R TehdT g, gTcdifch Tureenl ot 3} off g aa e Y 3masgenar € foh g9t @ist & gRomdt &t

TEehIT H STeT+ <hl SITATchdT & T gl |

STe fohd} Tecenler ol Ueh AT TThUT UehIfAd 811 aTell 8idT &, df TUTGeh Sch gRT Uehsl fohU T Qrea <ht gefier
AT | HIUH TG | & AT Sera a1 IuANT adh, [SaH fafa= Sidl 6 gon sfigen & el 2ree a1 SR e
o} A 8, F T A & foh I & <1ea AgayqUl | HUTGdh 4@ Tehd & foh Yeh hiUd A fohdT IR Teh 2165 @S &ar
g 3R 3 forg IR & WA &1 D IR Uk 21eg Uehe giaT 8, I+ 31fAeh IHh! THTEHT TgehiT B ST &t gt &,
AR TUTEeh 39 a8 o AT T Hff T T foh 68 o IUTNTRATST T fohelt faiy TAMER g a Hiffa 8

31eqaT Toi |

RT&&] Bl TIF T oh dG, HUIGeh 31ch folQ [SGehIRT UTATRTT oht Tehferd dhedt| fihR off Uah Arsgahly & Tah Sreg A
& & a1 o, a8 gA & TN I8T 61 6 Thdl g1 Teh UG SIf Ueh BId] Al geAdT o ®9 & I+ 37T § widsg &
BT ST HehdT & dich 3iTell Tl o Teal ohl FetAaT <t Srgafa &1 i gkl

Sub questions
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TG o AR, AR foly reganter Ag<ayquf gid & aifch:
Options :

1. ¢ IH foreft faly Iwg oR IuThT §H aTe 2re< gid & |

2. % I foheft wTeT & haet TelaH U Bid &

3. % U GTheun O gH ohig Qrse gHgH | Aeg Aadt g1



4. % AN hael eI A U | ot IuTHT ahd B
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:N.A Think Time : N.A Minimum Instruction Time : 0
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HUTGeh hdl I ohid ¢ foh 2TegehlN A i & 2real cht AMAW AT 82 A1 1T 7Y w1 Tal St g1

1 .RTSEERIRT h TUTEeh GHIT AT I WioT+ bl TITH &id gl

2. Y <reg} Y Geh Gt ST STt

3. ey Y a] <hl ST el 8

4. fafa= ffaat & ura: v fRd S aret 21eg &t anfAeT fohar sirar 21
Options :

1.%123

2.%124

3.134

4. % 234
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QTseeh!T TUTEh] ZRT IUTNT fohaT ST aTelT Teh shidd T 87

Options :

1.« fafea Jal @ <ft 718 9T &1 U fane e

2. % Yo RN T FepTel ST aTet Q1eal hl JuiHTar il
3. ¥ 37RIR &R fohQ 7T Sreai ehl e G|

4. % ST SrgEeT i Teh deheiich|
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:N.A Think Time : N.A Minimum Instruction Time : 0
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ITE S IR, G hl Uit Tt 78t gidt Fifoh:

Options :

1. % QU B hael AdI-dH I8 g T1RTI

2.  fohdl 9TwT J AU 165 A §id & 3R Udfeld 7 3§ 71U 1&g 8¢ Sid gl
3. ¥ ld gdAT e foeghel AY UehR ¥ IUANT fhaT ST HehdT 8

4. % et 3R ST rea Teror @Y & gy ger iy S 8
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LTeGehIRT oh! THY GHY R RN ot fopar Sirar 82 i foU 71T shyAT & I8l 9aisi= ol 99 el

1. ST GIRT 914 T4 Y ST&&] ahl [MTAA A o forg|

2. QR LAedt & =i reat t gem & fagl

3. Sit Ugel HId gl 8, 7S ST A b o feg |
4. =TT I SIS HISET TR0l H GUR e & forg|
Options :

1. 13R2

2. % 23R3

3. % 33k4

4. % 13R4
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What approximate value should come in place of the question mark (?) in the following question? (You are not expected
to find out the exact value.)

6% 0f 248.65=" of 2308.50

Options:
7

1.% 5

b |

B2 | =



Question Number : 58 Question Id : 25498914227 Question Type : MCQ Option Shuffling : Yes
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e T # T B (?) & WIF R FAled A R g TE0? (M T A
T 7T A §)

248,65 7 6- = 2398.59 T ?

Options :
2

1. %5

N
¥
| =

Bd | =

LI | B3
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The ratio of the students in schools A, B and C is 5: 4 : 7. If the number of students in the school are increased by 20%,
25% and 20% respectively, what would be the new ratio of the students in schools A, B and C?

Options :

Ln
L |

1. #

> « 30:25:42

3 % 30:20:49



4. % Cannot be determined
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T A B AR C % oml & ¥ 50 4 7 §1 T T § oW & wEw & FA 20%, 25% A
20% & & 5 & & T A B #R C & TR 1 F FA T

Options :

1.2 8 :5: 7

5 v 30 : 25 : 42

3 % 30 : 20 : 49

, « TuiRa = 5 =T wear 7

Question Number : 60 Question Id : 25498914295 Question Type : MCQ Option Shuffling : Yes
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The ratio of the speeds of a car, a jeeps and a tractor is 3:5: 2. The speed of the jeep is 250 per
cent of the speed of the tractor and tractor covers 360 km in 12 hours. What is the average speed

of car and jeep together?
Options :

1.+ 60 km/h

2. % 75km/h

3. *# 40 km/h



4. * Cannot be determined

Question Number : 60 Question Id : 25498914295 Question Type : MCQ Option Shuffling : Yes
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TF R, T 9 A G A A F 5 3050 2 81 s & o dwer & afy #1250 g &,
ot &ev 12 2 & 360 Retelter #r o 7w e B1 AW Ak s Y sltew 1 o v Rt &2

Options :
1.« 80 km/h

5, % 75 km/h

5 % 40 km/h

4w oY YT el @ ST TeFhar &
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Study the given information carefully to answer the questions that follow:

A committee of five members is to be formed out of:

3 Trainees, 4 professors and 6 research associates. In how many different ways can this be done if -
The committee should have all 4 professors and a research associate or all 3 trainees and 2 professors?
Options:

1. ¢ 12
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:N.A Think Time : N.A Minimum Instruction Time: 0
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ﬁmﬁﬁﬁmﬂwmwﬁé* wuga #7 A A9 BT T g 7 5w d
Y FE & & gl & e R I g, e

3 R, 4 SRR 3R 6 oty FEa 5 TF e afien A @ R 1 v £, 9 @R A
el 4 IE HR T o wEaE @ 3 9 AR 2 SR g i

Options :
1. ¢ 12

> % 13

3. % 24

4 % 52

Question Number : 62 Question Id : 25498928901 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Evaluate the following expression (rounded off to nearest tens).

335.01 x 244,99 + 55 =7

Options :



1.9 1490
2. % 1550
3. * 1420

4. % 1590

Question Number : 62 Question Id : 25498928901 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
2 fag g TeteRzor ot g1 Y (Rehed™ a3mera T dek QUi o) |

335.01 x 244,99 + 55 =7
Options :
1. % 1490
2. % 1550
3. % 1420

4. % 1590

Question Number : 63 Question Id : 25498929208 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The simple interest accrued on a certain principal is Z 3,56,727 in 7 years at a rate of 8% per annum. What would be the
compound interest accrued on that principal at a rate of 2% per annum in 2 years?

Options :
1. % ¥25373.48

2 % <24,340.86



4 % %26.540.48

Question Number : 63 Question Id : 25498929208 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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% ARd A W 8% i a9 A @ 7 W A Hfw WuR @ T 3,56,727 71 3 oy
W2 T A 5 a9 2% & T & Wi Thgie o FT g

Options :
1 % < 25,373.48
9 % < 24,340.86

5 v ¥25,735.30

4 % < 26,540.48
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Select the option that is related to the third term in the same way as the second term is related to

the first term.

Rill : Stream : : Pony:?
Options :

1. * Mare

2. ¥ Mule

3. #* Donkey

4, % Horse

Question Number : 64 Question Id : 25498910147 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
39 fahed ot g S R 21eg 9§ It TR T & oI TR g@RT 21eg et s & Twifdd g

R grr: g 2
Options:
1. % iy
2. ® X

3. % e



Question Number : 65 Question Id : 25498912903 Question Type : MCQ Option Shuffling : Yes
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Find out which of the letter-series follows the given rule.

The letters placed at odd positions (1, 3, 5...) and letters immediately next to them have a gap of 2
letters as per alphabet series; whereas the letters placed at even positions (2, 4, 6...) and the letters

immediately next to them have a gap of one letter as per alphabet series.
Options :

1. % ADFIKN

2. * BEGJLN

3. # CFHKLO

4. % DFIKNP

Question Number : 65 Question Id : 25498912903 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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UdT TG foh ente Y sreR-@e &g g fAgw i urer o 81

St 18R fawA W (1, 3, 5 ...) TR 8 IR 3R 37ch 3d AT aTel 31eR | quiigsh & AFIR 2 &Rl &l 3R 8; 5a
Y ST 37eR IH W (2, 4, 6 ...) W 8 I8 IR Ik JId AR dTet 31&R H qUITIshA o IR Yeh &R HI 3R 8l

Options :

1. % ADFIKN
2. % BEGJLN
3. ¥ CFHKLO

4. = DFIKNP
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Arrange the given names in the order in which they would occur in a telephone directory and

choose the one which appears in the second position.
Options :

1. % Avdesh

2. * Avadhesh

3. ¥ Awadesh

4. % Awdesh

Question Number : 66 Question Id : 25498919802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
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fq 7g i &t 39 A A afa w5 oA | & o Sefithia AdfRreRr A g 3R R WM WR 3 aTet 216G ol
A |

Options :

1. % Avdesh

2. * Avadhesh

3. ¥ Awadesh

4. % Awdesh

Question Number : 67 Question Id : 25498919887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
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In each of the following, four words have been given, out of which three are alike in some manner,

while the fourth one is different. Choose out the odd one.

Options :



1. * Hangar
2. % Platform
3. #* Dock

4. + Park

Question Number : 67 Question Id : 25498919887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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i faeheat & IR <1sg e 7T § fS9d @ i fopelt UepR & Uah i 8, STafeh Uen 3999 99 81 39 {94 1eg &Y ugaH
Eay

Options:

1. % R

2. ¥ wichH

3. ® Tt

4. UTh

Question Number : 68 Question Id : 25498927834 Question Type : MCQ Option Shuffling : Yes
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Select the option that is related to the third word in the same way as the second word is related to

the first word.

Bank : River :: Coast:?
Options :

1. * Flood

2. % Waves

3. ¥ Sea

4. % Beach
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39 faehcd et g St fIER 2rea O It YR GHifAd @ ol UehR qERT 2reg Uget 2re @ Tifdd g1

fRr: adt::de: ?
Options :

1. % 976
2. % TR

3. v Tg

4. % gugde
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If in a certain code, LUTE is written as MUTE and FATE is written as GATE, then how will BLUE be

written in that code?
Options :
1.+ CLUE
2. % GLUE
3. % FLUE

4. % SLUE

Question Number : 69 Question Id : 25498928725 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
U fafre sle d, afe LUTE @l MUTE SR FATE &t GATE foRaT STraT € at 34T ehte & BLUE aht T forar Sraem?



Options :

1.+ CLUE
2. % GLUE
3. * FLUE
4. % SLUE
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Why is Himalayan region poor in mineral resources?
Options :

1. # Himalayan region is made up of crystalline rocks.



2. ¥ Displacement of rock strata has disturbed the arrangement of rocks and made it complex.
3. # The climatic conditions are not suitable for exploration of minerals.

4. #* The rugged terrain makes exploration of minerals difficult and costly.

Question Number : 70 Question Id : 2549895322 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
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fedTera &5 # WS FH1eHT Y A T4 HH =l 872

Options :

1. % fgATeTa & feheeeilg TgM i 8 a1 8|

2. ¢ IgrEl & faearu A TgET Sl wRal i srerafedd o faar g 8k 38 Sifee o= fear g1
3. % @Wlysil & rawur & forg STerary uRIRRTRRT Iwgeh 8 &1

4, ¥ JFS-WES &F g h HRUT WS chl Wil T fhed SR TS 8
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: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following was the first to estimate National Income in India?
Options :

1. # Dadabhai Naoroji

2. % RCDutt

3. # VKRV Rao

4. * DR Gadqil

Question Number : 71 Question Id : 2549899643 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



WRd # gduH fohdch gRT AER 311 it fohar mam 2r?
Options :

1. ¢ 2reTTS RISt

2. % IR 9. g

3. % dt. &, IR, . 3@

4. % 3t IR, mehi
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Aspirin is:

Options :

1. #¥ an antibiotic

2. # asedative

3. ¥ an antipyretic

4. * an antiseptic

Question Number : 72 Question Id : 25498929749 Question Type : MCQ Option Shuffling : Yes
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gfaafa = 8?2

Options :

1. ¥ g Ueamaifean

2. ¥ Uch IR &al

3. ¥ Uch SRR &dT

4. % Qeh IR Sl
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Deficiency of which of the following causes xerophthalmia?
Options :

1. * Vitamin B3

2. #* Vitamin B12

3. ¥ Vitamin A

4. % \itamin C

Question Number : 73 Question Id : 25498929755 Question Type : MCQ Option Shuffling : Yes
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fAfafea & 9 forg faafaa i et & sreriferares (SRiterafaan) Ares 2 gt Sirar 82

Options :

1. ® fqafaw B3
2. % fqaf@= B12
3. ¢ faaf@T A
4, % fgafm=a C

Question Number : 74 Question Id : 25498931994 Question Type : MCQ Option Shuffling : Yes
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The Nuclear Non-Proliferation Treaty came into force in the year:
Options :

1. #® 1967

2. ¥ 1970

3. % 1971



4. % 1974

Question Number : 74 Question Id : 25498931994 Question Type : MCQ Option Shuffling : Yes
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URHTY] STUER i ohel AT g5 At?

Options :

1. % 1967

2.¥ 1970

3. % 1971

4. % 1974

Question Number : 75 Question Id : 25498935159 Question Type : MCQ Option Shuffling : Yes
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Consider the following statements:

1. Originally the constitution of India contained 22 parts.

2. Originally the constitution of India contained 395 articles.

3. Ninth, tenth, eleventh and twelfth schedules were added to the constitution of India by the

Constitution (Amendment) Acts.

Which of the statement(s) given above is/are correct?
Options :

1. % 1only

2. % 2only

3. %* 1and 2 only

4.+ 1,2 and 3

Question Number : 75 Question Id : 25498935159 Question Type : MCQ Option Shuffling : Yes
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AEfefRad syt wR feamr e

1. 9T U ¥ 9Rd & Sy & 22 917 9

2. 1 &Y & YR & Gy & 395 arws 1

3. 9Rd & Wiqur & e, qadl, argdl ok aredl srggfral ol e (Fentem) sifafad grr siter mar|

IR & T &y () § @ &9 91/3 98t 8/8?

Options :
1. % thad 1
2. % had 2
3. % hger 1 3R 2
4.4 1,2 3R3
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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An allergy refers to an exaggerated reaction by our immune system in response to bodily
contact with certain foreign substances. It is exaggerated because these foreign substances
are usually seen by the body as harmless and no response occurs in non allergic people.
Bodies of allergic people recognize the foreign substance and parts of their immune system
are turned on. The substances that are foreign to the body and can cause an allergic
reaction in certain people are called allergens. Examples of allergens include outdoor agents
like pollens and year round indoor agents such as dust and mold. When we first come into
contact with these allergens our immune system treats the allergen as an invader and
mobilizes an attack. The immune system does this by generating large amounts of a type of
a disease fighting protein specific to the particular allergen we are allergic to called
antibody. In the case of pollen allergy the antibody is specific for each type of pollen. One
antibody may be produced to react against the oak pollen and another against the ragweed
pollen. This antibody attaches itself to certain cells in our body. The next time we come into
contact with the allergen it attaches to the antibody like a key fitting into a lock and causes
the release of some powerful inflammatory chemicals such as histamine. These chemicals
move into various parts of our body such as your respiratory system to cause allergy
symptoms including runny itchy eyes and sneezing among others. Tobacco smoke is the
most common indoor pollutant which is strongly associated with allergic sensitization and
other respiratory illnesses. Exposure to smoke enhances the ability of the body to produce
the allergy antibody that attaches to allergens called Ige. The Ige response is a key trigger
of allergic reactions. The word allergy is derived from the Greek words alios meaning
different or changed and ergo meaning work or action. Allergy roughly refers to an altered
reaction. Typically there is a period of sensitization ranging from months to years prior to an
allergic reaction. Sometimes it might occasionally appear that an allergic reaction has
occurred on the first exposure to the allergen but there must have been a prior contact in

order for the immune system to be poised to react in this way. Allergies can develop at any



age even in the womb. They commonly occur in children but may give rise to symptoms for
the first time in adulthood. Asthma may persist in adults while nasal allergies tend to
decline in old age. Heredity factor also plays a role as the risk of a person developing
allergies is related to allergy history of parents. If neither parent is allergic the chance that
a person will have allergies is about fifteen per cent. If one parent is allergic risk increases
to thirty per cent and if both are allergic risk is greater than sixty per cent. It is clear that
one must have a genetic tendency and be exposed to an allergen in order to develop an
allergy. The more intense and repetitive the exposure to an allergen and the earlier in life it
occurs the more likely it is that an allergy will develop. Although people may inherit the

tendency to develop allergies they may never actually have symptoms.
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